[image: image1.jpg]70, There are wo forces on the
20 ke box in the overhead view
of iz $31 but only one i
shown, The figure also shows the
acccleration of the box. Find the
second force (@) n unit-vector
notation and as (b) 4 magnitude .
and (¢} a dircetion. ssm E o=\
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[image: image2.jpg]T0E. A block with a weight of 3.0 N i at rest on a horizontal surfuce.
A L0 N upward force is applied 10 the biock by means of an
attached vertical string. What are the magnitude and the direction
of the force of the block on the horizontal surface?
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[image: image3.jpg]P, A 50 ke skier is pulled up a frictonless sk slope that makes
an angle of 8.0° with the horizontal by holding onto a tow rope.
“hat moves parale 1 the slope. Determine the magnitude of the
force of the rope on the skier at an instant when (o) the rope is
movig with a constan speed of 2.0 s and (b) th rope is moving.
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[image: image4.jpg]31P. Two blocks are in contact on a frictionless ta
force is applied to the larger biock. a5 shown in Fi
m, g, my = 1.2 kg, and F = 3.2 N, find th
the force between the two blocks. (b) Show that f 2 force of the.
same magnitude £ is applied 1o

the smaller block but in the op-
posite direction, the magnitude of
the force between the blocks is
2.1 N, which is not the same .
value calculated in (a). (¢) Ex- 5
plain the difference. ssm e Fig 35 Problem 31
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[image: image5.jpg]SHP. A worker drags a crate across a factory floor by
4 rope tied 10 the
350 N on the rope, which i inclined at 38° 0 the horizontal, and
the loor exerts a horizontal force of 125 N that opposes the motion
Calculate the

son of the erate f (3) s

emitude of the a
(b s weight 15 310 N
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[image: image6.jpg]- 3me2d LU KE pency

box on a 30° frictionless incline

is connected 10 3.0 kg pen box on a horizontal fictonlesssurface,

The pulley is fictonless and massles. () If the magnitude of F
N, what is the tension in the connecting cord? (b) What i

argest value that the magnitude of F may have without the

connecting cord becoming slack?
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[image: image7.jpg]100 kg

2.1 Fie. 545, 2 100 kg cre
i pushed ¢ consant spee up he
fricionless 30.° ramp by  hor-
izontal force F, What are the
mamitudes of (1) F and (b) the
force on the rat rom he ram?
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